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(56 1 RIA 1EERER]

178 {5IRE Exec. java (2) /) T+ —ILE#, size (T
DA*V X (IE) // T+ —)LRZE# size (T
20H {pIRE Exec. java (FR) /] T+ —ILZE# size (C
DAAV X (IF) // T+ —ILRZE# size C
218 st (38) ---TNZEFTRABNIDEXECTY
1478 (If) ---ZNZFTAKITBEXECTSATY
218 X (38) /) T+ —ILE#, size (C
DaArV X (IB) // T4 —ILRZE# size (C
348 #wmE1-1 (BR) o0 "AR=RI A= RY
DAF VX (IE) ---. "AR=R" "J\—=hK", ---
48H =R A FN (82) public Grade(String n, int s){
SEERITOEIHA (IE) public Grade(String name, int score){
528  ##E4-2 (58) -r>7R— b33 RpgCharcter SR+ - -
XX 247H (IE) -r>7R— k93 RpgCharacter 75X (& - -
57H | =i (32) T —JLR% pirvate [CL - - -
H7eIeD 3178 (IE) J-r—JLR%Z private (CL + - -
60H  HEBEFTAMD20D (82) public boolean isOK(double a){} // ---
o35 A5 (IE) public boolean isOk(double a){} // --:
628 | b2 hD4FEBKY | (32) String mark = (risOK(bmi) ? "O" : "x");
SPD OTFH5 31TH (IE) String mark = (r.isOk(bmi) ? "O" : "x");
638 A (GR) A—/){\—O—RICKD. BUHKERSE UL CTHUOEES: -
278 (IF) A—=/){\—0O—R(CKD. #EEN—EHE> TOWTEBRUZFCTHFUEES:- -
658 | flFE1-1 (3R) EAMB(L Max
227HOOA> b (IF) mAMEIE max
82H | @BATAM 1-M1 (32) Exec 7 FADFATHRERZ AT MBI A NTF I B aF—/N—n—F
RIRESZ L7 X0y,

(IF) Exec VS X TERALTLB Player D> A NSOIBIUVETHREEZR T, Player
DSRACWEIRIAA NS OF%ZA—)\—0O—RUIRE0,

94H =W (R) FvIMEBZERETHEUME (=C10x10+cl) ZRY
52478 () FvIHEBEREBCBREUME (=c10x10+cl) ZiRY
108H | EBTAN (2) ROXDTELWED(C: -
2.0FX 117 (IE) ROXTIELWEDIC: -
1118 | @712 (2) BREET—FHEDVEDTINSHS, -
1478 (If) 2REET—FEDVEDTINS, -
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1368 | f#&@5-1 (88) package temp;
o3 4A1478 (IE) package ex5;
136H | f&5-1 (FR) fERLigdEny

B2 RKECASENM (IE) fERR LIRS0,

1588 | #EMEYX GR) ---&EENZWETD myAlarm S5 AD—&CTY, -

178 (IE) ---&7NZAMET D MyAlarm IS AD—EPTY, ---
1618 | FEZ2-2 (828) 0=Math.raondom() <1.0

dAI X (IE) 0=Math.random()<1.0
166H #@&E3-1 M1 (38) ex3/\w4H—=>(C4IRE 1-2 @ StudentData VS5 X% -

DS ABEEA (IF) ex3/\w4H—=>(CHIRE 1-2 D Student 7= X & StudentData 7S5 X% - - -
1788 #EEAFTALN 3 (8) 3.KI(3. TOOlS_UfZC%ﬂ%:%Ii?}'K v

XF s Z#HIkR (IE) 3.%(&. Tool VSR EE'NZEMALIZ -
1808  1O5A (R) static void main(String[] args){

oovsA 1478 (IF) public static void main(String[] args){
1858 (82) // student,StudentData,StudentBmi (& @ EDIERICHED T,

FIRE 1-1 DA ) .
(IE) // Student,StudentData,StudentBmi (& 182 BDIERICHED T,

1998 (%) // student S AW SHkE Lz who XV w R
FIRE 3-2 AR - _
(IE) // Student IS X H5#E U who XV w R

2028 | AXTFTHh5317H (%) Student V=X TIl& Who AW ROEREFEITLTBWNT, -
W ZINZLFICTD (IE) Student VS XTlEwho XVw ROEERELEITLTHWT, -
2048 & (88) ---StudentDat VS XEIE—-LTHLLEL -+
2{7H (IE) ---StudentData V75 XEIE—LTHLLE, -+
206H | fi#i (58) ---A—/)\—0O—RUwho XVw RHEEEIL
4178 (IB) - A—)\—=Za RUIEwho XVw ROEEEIL
2118  [HRE1L 1. ROUSAMERZ - - - BHXIREV. /22U, K& Datac—Stat<Analysis &L\ S
BB KRE(CIBRE BRERIERARITY,
2118  BE1 B1 (R) get XVw RTIFE, iBNEEULWME (BLHEREKH) NESMFTv oLV
BIRESZIEIE (IF) get XV RT(E i AEEULLME (BLFIEBREEKSE) NESHFIT VoL
2128  [HE1L R4 (%) B4 ROTOISLDT~IDDE:--
RBIRESZETE (IE) B4 ROF~IDD5:--
2168 |  A¥Z31i7H (ER) A—/)\—=Z1 RUM=who XVv R(Z
B/A (IE) StudentData VS5 ATA—/\—S4 RUJEwho XVw R(&
2348 KX (38) ---. ENLILDBEEZ RouletteGame BE DA T T hEIRUET
Eh5 2478 (IF) ---. ENLSDEEZ Cho Han _Game B2DA Tt hEELUET
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235K | R{THEROE (8R) StudentBmi OF{THER (Him)  100/HH7/175.5/68.3/22.18
/ & ICEETS Bl ol 53 B ozyl B
221 L - — — .
G e) [1=Student, ?=StudentData, 3=studentBmil > 1 Egg&g%ﬂ’>2;%“de”wata’ 3=GtudentBni] > 3
[FHEES] > 100 (28] > BT%R
el > BmE [FEl5 15
: B B a3z —il 53 s
100 E A %E/1 75 .5/88.3/22 .18
[1=5tudent, Z=StudentData, 3=StudentBmil > 2
[ZPEgES] > 100
[Ba] > BPE
[FE] > 175.5
[(F=] > BB.3
100/ 3

(IE) StudentBmi OEITHER (Him) 100:A%%:175.5:68.3:£2.18

B azy—) 2
<¥7T > Exec (31) Dava ZAWrfLay] C:¥jre¥7¥bin¥jay
[1=Student ., EIStudentData 3=StudentBmil > 3

[1=Etudent, Z=StudentData, 3=StudentBmil > 1 [FEEES]
[SgE2] > 100 (23] > EPE v
Bl —
- Bz & 100:EHt%:175.5:68.53:20. 18
[1=Gtudent ., ?=8tudentData, 3=StudentBmil > 2
[ZEE=] » 100
[BR1] » BPE
[FE] » 179.5
[FE=] > B8.3
100/H P =
238H  flFE4-2 (%) public DiceGame(){
DiceUtility V5 X (IE) public DiceUtility(){
6 178
2398 | f#H (82) 417ET DiceUtility 22D
1478 (IF) 5%TET DiceUtility B2
2468  [H2 (89) Student a = new StudentData(100, "H=");
AT ERSY Student b = new StudentData(100, "#AK");
(IE) Student a = new Student(100, "H=H");
Student b = new Student(100, "#AK");
2608 A (ER) ---&EEVWTWVWBDT, Informaton 1>5J1—
Ths 5178 (IE) - &EENVWTWBDT, Information1>FJ 1T —
267H  AX (ER) - -DEFTEIR> wI sum AVY REFEFEIT"
=TT (IE) ---D&EEZEIRT sum AVw REFE5EI"

2728 | FEEOR2 (& 5-1) | (32) public class Exec {

oOoo354L27H (IE) public class ExecGame {
2778  [E3 (8) Dice AT h&EERLT: -
SPD D 1{7H (IE) DiceGame BDATZ T SEERRLT: -+
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w81 RFE2

A 317H
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HES

TEODOFE
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RIRESZ
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OO I U Java <AT> 120 MEEAFRE>

(%) Part3-3 DO HE®D

(IE) Part3-3 ™ 219 EM

(R) O EFIDEZRESE0~3RDT, ml4]EWSEND: -
(IE) @F. BEHNDOERES(E0~3XDT, n[4]EWDED: -

(ER) - -FryvFJOVOTE -FrvFIJOVITIE: -

(IE) ---catch JOwvoTlE

------- catch JOVOTl&:--

(R) BSOS ADiEN (0H) EERLTIZEW
(IE) BSOS ADMAER (299 B) E8RLTIIZEL

(8) ---JOJSLA (execjava) ZRRULESL,
(IE) ---FOJ=L4 (Exec.java) ZRRUIRE(LN,
(88) ArrayList DRZHL3K for XXT

(IE) ArrayList DNE %K for X T

(88) for(Card c : la) {
(IE) for(Cardc: Is) {

(38) i 1" 3 DEEUASHIRL TR L.
(i) Is O | BEDEIEN 3 DA SHIERUTERDH L.

(ER) ArrayLst DAVY RZBEETDHETAVY REERTED
(IE) ArrayList DAVY RZBEERI D TAVY RZ{ERTES

(32) Bookself 75 XDA> A NS OAICIE, -+
(IE) Bookshelf 7S RDARA S OIH(TIE, -+

(GR)

mJ—J)LR

String name K+
double height B
double weight HRE
(1IE)

mJ—J)LR

private String name K&
private double height 5
private double weight hE

(FR) B (vh) &4E (vw) OFHIEZRDD

(If) BROFIME (vh) EEREOFIEE (vw) ZKRDD

(%) public Deck get(int i)
(IE) public Card get(int i)

Rk (BB 2hR)
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FITUTERESBANMEONIEZ T ZDONERB T,
17U CES B EBAMMEOINIEZ T 2DONERB T,

ZD Exec 7S AUFFHTLLY Myprint # X0 ZITUEIH
ZD Exec IS AIFFHT LY MyPrint # X0 UEIHN

(IEHE(C(FRDITAF 380 R—2DIASLZRTIEEW)
(ERECAID A 380 R—2DOASLAZR T EEW)

NILFRALY ROFEO EDTEFERLTHETET . fliE 1-2 Z/ED - -
NILFALY ROFEOEDEIHERUL TEEET . HlE 2-2 Z[EH -

ENTIED 3DDIATALY RT—)L&ED - -
ENTNEDS 3DDIATDRALY RT—)LZED -

es.execute(new MyPrint("------ 1M);
es.execute(new MyPrint("------------ 2"));
es.execute(new MyPrint("------------------ 3"));
es.execute(new PrintTask("------ 1M);
es.execute(new PrintTask("------------ 2"));
es.execute(new PrintTask("------------------ 3")N;

MUWALY RZRIET BT - ZFR L. Start)XVy RZERITID
FUWR LY RERIATDIC(E- - - ZERR L. start() AV Y RZEERITT D

7 excute

I execute

12 D Exec2 &fE 3 D Exec3 (- -+
5 3 D Exec2 &8 4 @ Exec3 (& -+

Runnable 1 >5J 1T —XTlE. <>AICELDIE- -
Callable 1> 1 —XTlE. <>AICELDIE:--
pai XVw RDFRATY

calc XYVvw RDEHEATY

CCTl&. callable1>AJ 1T —X=ZRELE: -
CCTld. Callable /> Jx—X%=ERELURE: -

ONERFTHCHEEZ T ZDT
N ERFITICHEEE T DDT

7 public  void run(){

7 @override
8 public void run(){
RITZF v >12)LI S f.calcel(true)

EifTZ7F v >t 9IS f.cancel(true)

o AERRLET . BIXIE. Tname (FENSBEX D LFRN] EWDHITER
o AERUET . BIXE Thame (IENSEX D &GV EWVWVDSHEITR
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4248  FEHE5-1#ED (8R) Exec VS X(&product ISR EEIED -« + -
sk 3178 (IE) Exec U5 X(E Product VS RAEERRD - - -

428H | HFE1-1MED (R) a=b(Z&kb
fi#gsh 1478 (IE) b=alckb
437H | 84 -18@=% (8R) int suit = a.getSuit();
5{7H (IE) String suit = a.getSuit();
439H | 2 (2) import net.java.util.Input
278 (IE) import mylib.Input
466H fHE2-1 31TBI(TRD import X=IEAT B
import XZiEA import mylib.book;
47 1H | FE85-1 (58) for(int i=0; i<h.size(); i++){
for XDRICH N %= System.out.printin.(h.get(i));
A }
(IF) for(inti=0; i<h.size(); i++){
System.out.printin.(h.get(i));
}
System.out.printin("&&t =" + h.total());
4718 | HE1-1 (83) @overri de
3178B (EB%ZHEHS) | (IE) @override
4748 | HE1-1 (82) return Pai.pai(n);
Ths 3478 (IE) return Pai.calc(n);
4758 @#=E2-2 447B(CRD import SXEEAT S
import XZ&HEA import ex1.PaiTask;
480H | # (R) ROBIDEFTRULEDZ -
1478 (IE) ROBIODKFTRUIZEIDZ - - -
4868 | A3 (52) readline()(.
Ths 3478 (IE) readLine()(&
4 8 7H | LEOBIENIESD (2) System.out.printin(data);
3478 (IE) System.out.printin(s);
488H | A (R) - ADUEEBEESZEST. Map
6178 (IE) --- AP UZEESESZHED> T, HashMap
490KE  #X (§8) Part4-3 DfIRE 2 T BfZR I ELHE L TEDNTLIS TimeUnit. NANOSECONDS

(IE) Part4-4 OFIRE 2 T, KiZR I ELE U TEDNTLIS TimeUnit. MILISECONDS



